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énoncé

Déterminer une solution des équations suivantes :

1 cos(x) =
1

2

2 sin(x) = −

√
3

2
.
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correction

1 π

3

~i

~j

1

2

− π

3
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correction

1 π

3

~i

~j

1

2

− π

3

Une solution est x =
π

3
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correction

1 π

3

~i

~j

1

2

− π

3

Une solution est x =
π

3
Remarque :

L’ensemble des solutions est :

x =
π

3
+ k2π et x = −

π

3
+ k2π avec k ∈ Z
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correction

2

− 2π

3

~i

~j

−
√

3

2

− π

3
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correction

2

− 2π

3

~i

~j

−
√

3

2

− π

3

Une solution est x = −
π

3
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correction

2

− 2π

3

~i

~j

−
√

3

2

− π

3

Une solution est x = −
π

3
Remarque :

L’ensemble des solutions est :

x = −
π

3
+ k2π et x = −

2π

3
+ k2π avec k ∈ Z
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